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All questions are compulsory.
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The question paper consists of 34 questic divided into four sections A, B, Cand D. Section-

A comprises of 8 multiple chowe queshons « 1 mark each. Section-B comprises of &
questions of 2 marks each; Section-C comprises gh10 questions of 3 marks each and Section-

D comprises of 11 questions of 4 marks ca h
w8 w72 | # fawen 7 b O

There is no overall choice in this question pap=r A
Srerpirz 1 wim afha &) O

Use of calculator is not permitted. @
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Question numbers 1 to 8 carry 1 mark each. -

nﬁ'rﬁ'mmv{'nh%:mamtwx‘y’amb=x’f,aﬁgaﬁ!y.mﬁmﬁ?,mlcwa.mt 1

(3 &y (b) oy () Y 4 1y

ge 10f8



JSUNIL TUTORIAL

W two positive integers a and b are written as a = 4y ana 5= £/ wrere
2and b are prime numbers, then LCM (a, b} is :

(@) Xy )  xy € #F =&
2 ﬂfdammambﬁ;ﬂ;yzmb:ﬁ%mvzw:,zﬁ,mymmt 1
a9 HCF(a, b) ® -
() I m  xy € Ay ¢ s )
f two positive integers g and b are written 31 I=s/ 20 b=xy . where
g and b are prime numbers, then HCF (o &) i5 ) .
3) Ay (b)  axy €0 Ly ¢ £y
3 My=omy=—5m(#w: 1

(a) TFEA d)
(b) AEA
(c) Fefifaa #¥9 | w=5F 77

@ FEEETA ¢
The pair of equations y=0and y = — S has. /
(a) One solution

(b} Two solutions (

(c) Infinitely many solutions A
(d) No solution
a1 1 : 1
* Wf!umﬂmf451+6tw.,'!:-;MW%
/ _‘/
A ® 'Y, 0 "'0 A
|
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YA ® 'Y, o . -y
S ﬁaﬂ?j‘j’ltmzimmlzm'lw*ﬁﬂ“éh 1
12em (b) 128 omic) 19cm (d) 192 om
?h)elcngthsdﬂ\edmdammuaﬂwlZmTheimctholtheahnudeofthe
e e rhombus is +—
(a) 12cm (b) 12.8 em(c) 19cm (& 132 om
6 «n20°sin70° — cos20"cos TV TN t:
Ay 1 ® 0
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$in20°sin70° — cos20°cos70° is equal to :
(A) 1 (B)

© 4 (D)

(5]

o

N =

7 afz A M BH FW E, T :
(a) sin A= sin B (b) cos A=cos B
() tan A= tan B (d) cotA=tanB
If A and B are complementary angles then :
(a) sin A= sin B (b) cos A=cos B
() tanA=tanB (d) cotA=tanB

8 fadasR g fFR T FF o9 7 & ?

(A) ¥R (B) © %= (D) HrA
Which of the following is not a measys€ of central tendency ina distribution ?

(A)  Range (B)  Median ¢ Mode (D) Mean

W-!@ON -B
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Question numbers 9 to 14 carry 2 marks cach c
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i
Find the HCF of the smallest composite number and the umiOmn number.
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Form a quadratic polynomial whose zeroes are == and (

o

aw fram agee 7w fra® =F

1 &g fpam A I SN, o i #1 am -3 AW T PREE -0 %) 5, WA 2
¥ 7T A #AQ

Find the quadratic polynomial, sum of whose zeroes is
find the zeroes of the pelynomial.

-3 and their product is =10 Hence,
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In AABD, ZA=90° and AC L BD. Prove that AD = CD X BD.

.q.f;:co\"'l = 17 3 %,aauﬁmemml
cot? +1 1+J;

If "L - 17¥3 then find the am\gle 0.

cot® +) 1+J;

/ | 7=t %23 | pAqq F IE IW 1 qn =g a1 o 7 HIAC

ia'fi : A& J ' '

l ] (Cﬂ%:g

1100-200 |11 11

|2oo-300 12 P

1200-400 |10 33 A
i0-500 |q 46

|1500-600 |20 66 ( .

500-700 |14 80

In the following data, find the values of p and g. Alsefin the median class and modal class.
" Tlass Frequency | Cumulative frequency |

(0 () | O

100-200 | 11 11 | ﬁ
200 - 300 | 12 p ‘

1300400 | 10 3 o
400-500 | q 46 E —7
500 - 600 | 20 66 g

| 600 - 700 | 14 80 B (

g7 W 15/ 24 7% vAE U 3 3w w K
Question numbers 15 to 24 carry 3 marks each.
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aug-"/SECTION - C

> faz mfi:ﬁ + J5 = afora 9@ ?)

4A8

Prove that V3 * /5 is irrational.

Lay F e Eia: L. D arsby=a’+b
: a b
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//" Solve forxandy: = = £ ;ax+by=a’+b’
a

b

7 (6+19x+x*—6x") T (2+ 5x—3x°) F W HITAC T4 WA F 71727 F1 TAA 0 3

P

L~

)

-

| /"

v

Divide (6 +19x + x* = 6x”) by (2+ 5x —3x’) and verify division algorithm.

p 741 q F 57 9t F fom fr= oz sfmm g 5 7= 23 7 7 3

I +5y=2; 2p+7qx+(p+8qy=2q—p+1
For what values of p and q will the following pair of linear equations has infinitely many
solutions ?

4x+5y=2; 2p+7q)x+(p+8qy=2q—-p+1

= \
APQR #, y=3fi PQ R PR ﬁgssﬁzrmm?%%* :_} aR PST=PRQEI * &
Ca
firg Ffs % PQR 7% / t’f
, svely L & S
In a APQR, S and T are points PQ and PR respectively such that o and 6‘ &

ZPST = Z/PRQ. Prove that PQR is an triangle i L.

AABC T AD U ¥idaa 1 mmm-'rnérmw?w'ﬁh Toife fF (AADE #1 3 FA 3

):ar(AABC?ﬂé’i‘WH)-;;q &
AD is an altitude of an equilateral A ABC. On bave another equilateral AADE is constructed.
Show that ar (A ADE) : ar (AABC) =3 4

‘ﬂftcosﬂé-sine-pmsed«&comﬂ-ql’h'!ma'vn-zptl 3

lfcosG-l—sinB-pandsec8+cosec0-q,utothq(pz-

/ 3
. 1
cosB cotd cosect F1 WH T Ffan A2 sin = = L 4 ‘5(7

. 1
find the value of cos® cot® cosec®, if sin = :.

- = = ¥ — 3 1
(Foey @2 %1 9Te 713 FA0 _

[’-Fd'_' 30 - 30 30 - 40 140-30 LJOHE-O A0-70

f ------ 55 30 2 ’B 10

Find the Mean of the following distribution

e ———
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Class 20-30 30 - 40 140-50 50 - 60 60 - 70 }
| Frequency |25 40 2 33 10 ] |
V 3 A% B 9rorF AT Fh F: ;
| A !
1| 4, |B00- 520|820 -840 840 -860 860 - $80/ 8S0 - 900 | 900 - 920| 920 - 940 |
| FTEIE |
g2l 7 14 19 25 20 10 5 5
HeAl 3
Find the median wage fro following data : i
:::2:. ls00 - 820 [820 - _ 860 360 - 880 [S80 - 900 (900 - 920 (920 - 940 |
Number
of 2 14 9 ps 20 10 5
WOTkeTs © .
|

25

26

uvA T 25 W 34 T WAIE UTA 4 SE W

I(!/)CHON -D \
v

Question numbers 25 to 34 carry 4 mar %

sirn, AW AN T A UF YT WY 70 F 1A
F73 § 7% FH7: 10, 16 AM 20 faz A4 ¥yl
7% ¢ W vEg I F A w3 e el wun

Amita. Suneha and Raghav start preparing cards fo
order to complete one card, they take 10, 16 and 20 m
together, after what ime will they start preparing a

lﬁ’w children reflect.

m * .,-'T g|
Find 2!l the zeroes of the polynonual v+ =NI=-3r+18, it it s given that two of its zeroes

are ‘\’—and'sj\-.

age 60f B
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%
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persons of an old age home. In

pectively. If all of them su.rtr;
rd_together 7 Which values
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27 TH A3 M ¥aTE S fam F fagia 2 kmam v waR A fem e km M A T FAE FA 7 4
U2 S &1 A€ AT 40 km MR WATE F v faem siR 48 ke M0 WAR F from F =A@, A FA 9
=02 A 1 T B e et F 916 a9 MR F 916 96 Fi

A boat covers 32 km upstream and 36 km downstream in 7 hours. Also it can cover 40 km upstream
and 48 km downstream in 9 hours. Find the speed of boat in still water and that of the stream

L 2 2
28 fTa 9 AD, BCR 7 €1 fag Ffau fEas’ + 0" = 8D+ AC.
In the figure if AD is perpendicular to BC. Prove that

’

29 Wmﬁ‘jﬁwﬂﬁm@ﬂ"ﬁﬂmﬁﬁﬂﬁwﬂﬁScm@%IWﬁiﬁfﬂﬂ’m‘f 4

2 2 2 2
AB +(CD =8BD +AC.

other by 5 cm. Find the lengths of the sides.

30 ﬁSsin0=km9t.ﬁM‘6Hm| 4

L T Ssin® * 2cos®

¥ wrvar Ja Hifa) g
Hypotenuse of a right triangle is 2 @v of the remaining two sides, one is longer than the

Ssin® - o ?

mt& CER LT 4

2 a2 15 1an20 + 4 sec?0 = 23 B M (sech + come )’

If Ssinb = 4cosh, then find the value of

Sun® * 2

| A
If 15 tan20 + 4 sec?d =23, then find the value of (sexh + - sin’®
L] . - ‘
5 i ; SN00T T ain00” T 8 o140 l....j.‘u' cos?70°)
e A . sin® tan 50 /
E\’iludt?i‘nt(qo- - ’)ssn(ﬁ‘ﬂ' - .) * e lﬂ: - tuuz}(l. * ”‘8
sinf tan 50
- 1
33 [Trei sT#S) @ AN, JNa® qul ages Ja it a ‘
! £ ™~
l’[—awi 50 B0 =100 100 — 150 [150 — 200 00— 230 £30 - 300 P00 - 350
J{Efr'i:}ﬁm D { 5 3 3 J
]

page 7 of 8
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Find mean, median and mode of the following data :

"Class

0-50

50—100

100-150

150 -200

200 —-250

250-300

300-350

| Frequency

2

3

5

6

5

a4 fzo o wrwE, 10

Mﬁmmﬁmﬁ%_m'ﬁn&am‘ﬁm‘ AT 4

AT 0-10 30-40 [ 40-50 | 50-60 | 60-70 | 70-80
faemidai =1

. 4 10 25 2 18 5
TqEA

Draw a more than ogive below which gives the marks of 100 students :
Marks 0-10 30-40 1 40-50 |50-60 |60-70 |70-80
Number of | w |3 |2 | 5
‘udents




